
Chemistry 
Synthesis and Decomposition Reactions 
 
Balance each of the following equations.  Identify them as synthesis or decomposition reactions. 
 
________________1.  ____H2  +  ____O2 →   ____H2O 

________________2.  ____K +  ____I2 →   ____KI 

________________3.  ____C + ____O2 →   ____CO 

________________4.  ____N2 + ____H2 →   ____NH3 

________________5.  ____H2O2 →   ____H2O  +  ____O2 

________________6.  ___H2  +  ____Br2 →   ____HBr 

________________7.  ___KNO3 →   ____KNO2  +  ____O2 

________________8.  ___C12H22O11 →   ____C + ____H2O 

________________9.  ___H2O + ____SO3 →   ____H2SO4 

________________10.  ___NH3 + ____HCl →  ____NH4Cl 

Complete and balance each of these synthesis reactions: 
(a) calcium  + bromine     (b)   magnesium + nitrogen 

 
 
 

(c)   beryllium + oxygen     (d)  sulfur trioxide + water 
 
 
 
 
Complete and balance these decomposition reactions. (In some cases one of the decomposition products is given.) 

 (a) Mg(ClO3)2   →  MgCl2   +    (b)    H2O    → 
 
 
 
 (c) HBr  →      (d)   HI     → 
 
 
 

(e) HgO   →      (f)   Fe2O3   →    
 
 
 
 
1. What is a distinguishing feature of every 
 

(a) decomposition reaction?   
 
 
 
(b) synthesis reaction?  

 


